
16
6

30

50
 (

S
)

T
ra

ve
l

10

60

42

10

6.
5

58

20

10
8

30

95

R4040

15

8

h20

h65

h13

28

55

20

10
0

13
0

8050

2825

40

30

2-
C15

w

eu

ryi

qt

Adjustment
allowance

Top dead
center

Bottom dead
center

2-h12.5
Dowel prepared hole

312311

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

P
a

n
e

l 
Tr

a
n

sf
e

r 
C

o
m

p
o

n
e

n
ts

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. 

Panel Transfer Components

Flange Lifter
Self-Lube Base Mounting Type

SOFLV50
Catalog No. S

SOFLV 50

No. Description Qty Material and Remark

1 Casing 1 Cast Iron

2 Slide Pin 1 SO#50S20C

3 Lift Block 1 Steel

4 Stopper 1 Steel

No. Description Qty Material and Remark

5 Spring 1 TF35-150

6 Hexagon Socket Head Bolt 2 M12x40

7 Hexagon Socket Head Bolt 1 M8x20

8 Dowel 2 h8x30

Option Code Specification

N12 Dowel prepared holes of casing are changed to h12H7.

Catalog No. S Option

SOFLV 50 N12

  Refer to page 329 for option parts. 

S
Spring
Model

Initial Final

Length [mm] Load [N] Length [mm] Load [N]

50 TF35-150 138 160 88 810

■Spring Specifications



26
0

30

80
 (

S
)

T
ra

ve
l

10

75
55

15

10
0

20

16
0

30

R4545

15

5

6.
5

h18

h70

103

35

12
0

15
0

8060

2827.5

58

90

25°

weu

ryi

o!0

q

t

Adjustment
allowance

Top dead
center

Bottom dead
center

2-h12.5
Dowel prepared hole

314313

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

P
a

n
e

l 
Tr

a
n

sf
e

r 
C

o
m

p
o

n
e

n
ts

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. 

Panel Transfer Components

Flange Lifter
Self-Lube Base Mounting Type

SOFLV80
Catalog No. S

SOFLV 80

  Refer to page 329 for option parts. 

No. Description Qty Material and Remark

1 Casing 1 Cast Iron

2 Slide Pin 1 SO#50S20C

3 Lift Block 1 Steel

4 Stopper 1 Steel

5 Spring 1 TF40-250

No. Description Qty Material and Remark

6 Hexagon Socket Head Bolt 2 M12x40

7 Hexagon Socket Head Bolt 1 M8x20

8 Dowel 2 h8x40

9 Lock Pin 1 SS400

10 Hexagon Socket Head Bolt 1 M10x16

Catalog No. S Option

SOFLV 80 N12

S
Spring
Model

Initial Final

Length [mm] Load [N] Length [mm] Load [N]

80 TF40-250 230 200 150 1020

■Spring Specifications

Option Code Specification

N12 Dowel prepared holes of casing are changed to h12H7.




